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Topic:- Physics

1) A circular coil A of radius ‘a’ carries current ‘I’. Another circular coil B of radius ‘2a’
also carries the same current of ‘I’. The magnetic fields at the centers of the circular coils are
in the ratio of: /

2541 <2’ e} U TR FS !, URT 1" BT I8 Bl g | 4T <22’ aTelt T 3=
%a!wﬁg“r; , AT YRT ‘I’ BT I6 B! ¢ | TATPR HSiedl & Dl U gada &
Srgurd

1. 2:1
2.4:1
3.3:1
4. 1:1

Correct Answer :-

o« 2:1

2) The total current produced in a conducting loop, when it is moved in a magnetic field
depends on: /

WIq TP Hag- UTN (HSiaeT qU) H SATGd Fof YRT S Th AP &7 | IR
fraromar g, A g g w Rk sRare:

1. Total change in magnetic flux and the resistance of the conductor /

JgB 1 TaT8 | $d URadH 3R Hagd &I UfeRiY
2. The final magnetic flux only / Pad sifaq W YUdle

3. The rate of change of magnetic flux only / Had t\idobnlq Udle & URadd ®1 &




4. Initial magnetic flux only / dhad URIND W YUdlg

Correct Answer :-

« Total change in magnetic flux and the resistance of the conductor /

P UaTe | $d URadH 3R Hagsd &1 UfaRiY

3) The molar specific heat of a monatomic gas at constant pressure is: /
frad 919 W e wRAT S 9 B Hier Ry S aide:

1.32R

2.72R

3.R

4.512R

Correct Answer :-

« 52R

4) The equation of motion of simple harmonic motion is: /

TR 3fTae T & g wify &1 Tfiaor 8:
1. (d2y)/(dt?) = -o?

2. (d2y)/(dt?) = -0y

3. (d2y)/(dt?) = -0\t

4. (d%y)/(dt?) = -0t

Correct Answer :-

. (dy)(d) = -0’y

5) The area of the circle is measured as 0.007 m2. The number of significant figures in this
quantity is: /

A & ST B 0.007 HI2 WIYT ST 8 | 59 AT H Heaqul sfiws! &1 H@IT 3:
1.4
2.2

3.3



4. 1

Correct Answer :-

6) A beam of electron is used in a young’s double slit experiment. The slit width is ‘d’. When
the velocity of electron is increased, then which of the following statements is CORRECT? /

AT P TP S BT IUANT, T & fgp-3a1 foog warT # fovan wirar 81 e ot dstg
‘@’ B 1 59 SAFEI9 1 A 9¢ oaT 7, ) fFArfefag # S i9-a1 fawe 98l 32

1. No interference is observed / ﬁ—if HfAHR1 Ta] <1 Sl % I
2. Fringe width increases / Tohe &t T—?IL?SIEQ(~ de STl %l

3. Fringe width remains the same / ol 1 Eﬁ?{l—sc HHH @?ﬂ % |
4, Fringe width decreases / Th &1 Eﬁ?{l—g wH E?f STt % |

Correct Answer :-

« Fringe width decreases / b &1 E?I@Ts‘ wH E-T STt % |

7) A liquid flows through a pipe of non-uniform cross-section. If A; and A, are the cross-
section of the portions of the pipe at two points and v and v, are the velocities of the liquid

at these points respectively, then the ratio of velocities of liquid v;/v, at these points will be: /

TP IR AT IUR-BTE & UIgU & HILHH A SgaT g1 afe A, 3 A, &l fagei
UI5U & UTT & SJURI-PIE & 3 v, Td v, HHRT: 5 fagsii WaRa S A g, al 5
fagsi IR ava & v &1 U v, / v, BRI

1. Ay /A,
2. AJ/A,
3.A1A,
4. 1/A1A,

Correct Answer :-

. Ay /A,

8) One volt emf is generated in a coil when the current through it changes from 0.1A to 0.2A
in 600us. The self-inductance of the coil is: /

TP HSal # TP diee SUHTE ST 8dT € O 3P HIHH | IO aTell YRT 600ps H
0.1A ¥ 0.2A H ¢ oITd! 8| HSall BT TW@-UR0T g



1. 60 mH
2. 600puH
3. 600 mH
4. 6 mH

Correct Answer :-

« 6 mH

9) A man weighing 55kg supports a body of 20 kg on his head. The work done by him
against gravity, when he moves a distance of 20m is: /

55 fun &1 ts aafd, A RR IR 20 5 &1 ve Fom @ 81 v & o s 3ae
ERT foam T ST R ghm, 519 9% 20 Hex 3t gt au FRar 3:

1.40017]
2.1100J

3. Zero / YU
4. 15007

Correct Answer :-

10) If a bar magnet of magnetic moment ‘m’ is placed in a magnetic field of intensity B such
that it makes an angle O with the direction of B, then the potential energy of bar magnet is: /

‘m’ GIBIY YUl 9T TH <& GaP B! YGadT B I Th GaPp 1 &7 | 39 YHR 7@l
SITdT 8, fP 98 B & 3= & 1Y TP HIvT 0 I9147 8, &8 ga B fRyfaw ot &

1. mB sin©
2. mB (1 + cosO)
3. mB (1 - cosO)

4, -mB cosO

Correct Answer :-
e -mB cosO

11) If a shell fired from a gun at an angle to the horizontal explodes in mid air, then the
center of mass of the shell fragments will move: /



Th dgeh A T & ATY T I R BISTTAT AT AR A B A ZICA A AT D
THS| B G BT Hg T HI:

1. Horizontally / RIGE]

2. Along the tangent to the parabolic path of the intact shell which was moving / 3&d Ad P
RAARIS Gy B W] & 1Y T B ot TiaRia ot

3. In the same parabolic path along which the shell was moving before it explodes / I RadAR—RS gy
# e e ¥ Ugd X T B QT Ul

4. Vertically down / diad -d &t 3R

Correct Answer :-

« In the same parabolic path along which the shell was moving before it explodes / I Rad® gy
T R e ¥ Ugd R T R IGT AT

12) In a sample of radioactive material, what fraction of the initial number of active nuclei
remains undecayed after half of the half-life of the sample? /

Ifsarentt uerd & ve TR 9, wiha Afie @1 uRfiS G-I ST S19-91 ST T3 &
ST b Y e & TG 316/ @ 82

1. 112
2.2

3. Y
4.1/2\2

Correct Answer :-

. 112

13) Electromagnets are made of soft iron because: /

faqgd g FdaEAe) TRA dle & ¥ §1d &, Hife:

1. It has high permeability and low retentivity. / SO I IRl 3R g SaRieA g g

2. It has low susceptibility and high retentivity. / s%lﬁl' g TRl 3R I SARIYT gral %I
3. It has low susceptibility and low retentivity. / Eﬂﬁ ﬁH JUIRIdT 3'ﬁ? ﬁH KICRIRE aﬁT %I

4. It has low permeability and low retentivity. /

3O 9 URITRIaT 3R Y 3raRieA giaT g

Correct Answer :-

« It has high permeability and low retentivity. / T S YRR 3R g SERieA BT g



14) Let n, and np, represent the number density of electrons and holes in a semiconductor.
Which of the following is a CORRECT relation? /

AT AT P n, 3R n, TP Sitmas @ftdsaer) # gadel R fos $1 o d=mn
&1 yfafiia ovd 8| Rt 3 9 sF-ar Jey 98 82

1. n.>ny, if the semi-conductor is intrinsic. / ng>ny, g srefama® A g
2. n, = ny, if the semi-conductor is intrinsic. / n, = ny, , g srefaras Ao 8
3. n, = 1y, if the semi-conductor is extrinsic. / ng = ny, qla METIRED dlgl %

4. no<ny, if the semi-conductor is intrinsic. / no<ny, g srefaras® Ao §

Correct Answer :-

* 1, = ny, if the semi-conductor is intrinsic. / n, = ny, , e stefaras Ao g

15) An ammeter reads up to 1A. Its internal resistance is 0.81Q. To increase the range to
10A, the value of the required shunt resistance is: /

U THICT 1A 9% Uedl 8| SHHT 3Midie® UfaRIY 0.810 8 1| AT %) Bl 10A TP TeH &
fore smawge® v yfoRlY STHA ©:

1. 0.03Q
2. 0.9Q
3. 0.09Q
4. 0.3Q

Correct Answer :-

e 0.09Q

16) A compound microscope has the magnifying power 30. If the magnifying power of
objective lens is 5, then the magnifying power of eye piece is: /

TS YYad YA (FHISS HTSHIRBIT) $t e &t 30 81 ey a9 ot smadq
&I 5 g1 AT B mae &Har 8:

1. 35
2.25
3.6

4.3

Correct Answer :-



17) A convex lens of focal length 20cm is in contact with a concave lens of focal length 10cm.
The power of the combination of these lenses is: /

20 A BIHd GE1S a1 TP Sd AY, 10 IH Bl d daTs aTd TP 3dad ad & JUs
A g1 59 )l b HUISH B &1 7:

1.-5D
2.-10D
3. 10D

4.5D

Correct Answer :-

e -5D

18) Two waves originating from two coherent sources, S; and S, will show complete

destructive interference at a point ‘P, if S;P — S,P = ./

< YT Al | ITH S a4 S, 3 S, T fog 'pr Wyl faam=it safaewor g=ife,
afe s,P-S,P =

1. 304
2. 6)/2
3. 9V2
4. Sh

Correct Answer :-

. 9N2

19) Two forces of 200N and 120N are inclined at an angle of 60°.The resultant force will be: /
200 N 3R 120 N & &1 9 60° & HIUT TR 3T g | IR g ghm:

1. 180N

2. 40N

3. 280N

4. 340N

Correct Answer :-



20) A wire of resistance RQ is cut into ten equal parts which are then joined in parallel. The
new resistance is: /

UfaRIY RQ 9Td U dR &1 H SRTaR U & H1eT SiTdT @ fb 58 AR § SireT Sirdn
HEL IR IGRIC KL

1. 100R Q
2. 10R Q
3. R/100 Q

4. R/10 Q

Correct Answer :-

« R/100 Q

21) A conductor carries a current of 60pA. If the area of cross-section of the conductor is
30 mm?, then the value of current density is: /

TP GATAP ($SIEX) 60pA URT BT 981 HRdl 8| IS GaTasd (Hsaer) F ATu-
PIc FT AT6d 30 A2 8, O YRT g9 &1 °H ©:

1. 0.5 A/m?
2.2 A/m?
3.1.5 A/m?
4.1 A/m?

Correct Answer :-

22) An ideal gas has r.m.s. speed ‘v’ at temperature 'T’. The r.m.s. value of speed of
molecules of the gas at temperature ‘2T’ is:/

TS TSR T B AT T | r.m.s I 'V 81 2T 909 R T & S(upsii 3t 7re o1
r.m.s HH@TIT:

1. 2v
2.4v
3.2\2v

4. \2v



Correct Answer :-

« \2v

23) The dimensional formula [ML"1T-2] does not represent: /
fafta @@, [ML-1T1-2] f= &t 18 exifar 8:

1. Pressure / QId

2. Stress / Ufdad

3. Young’s modulus / I HUTH

4. Power / QIfad

Correct Answer :-

o Power/ qfad

24) Two point masses at a given distance exert a gravitational interaction force on each
other equal to 'F'. If one mass is doubled, other is halved and the distance between them
is doubled, then the resulting interaction force is: /

& S g W Sl fig ST & ISR TH-gW W | oid: fhar 9@ @ €1 afe v seamme
DI QAT gER B 1Y R A1 TR 3R S0 ot 3t gt S v &t oI, Y aivormedt sia: foma
§ I

1.F2
2.4F
3. F/4

4. 2F

Correct Answer :-

- F/4

25) Two point charges at certain distance apart in air repel each other with a force ‘F'. If a
glass plate is introduced between the charges, then the force becomes F;. Which of the
following is the correct relation? /

gar | fAf3a gf w fRya &1 g smawr e < & 1y gop-gwn 1 fasffa wvd &1 afe
TN & §IF TP HId B! W TS STl @ al 96 F, 8 oral 8 | F=fafaa # 9 s
G HaY §2

1.F1=0

2.F1:F



3. F1< F

4.F>F

Correct Answer :-
. F1< F

26) A wheel has moment of inertia 2.5 kgm? has an initial angular velocity of 40 rad/s. A
constant torque of 10N acts on the wheel. The time during which the wheel is accelerated
to60rad/sis: /

2.5 kg m2 SIS@Tyuf aTd T UfRT &1 URfH® H1vfta a7 40 rad/s 81 URRT UR 10N &1 Had
Sarguf TTdT 81 98 THY T3¢ P QR UfedT 60 rad/s 9F @id gidT 8:

1.4s
2. 58
3. 6s

4, 2.5s

Correct Answer :-

27) A body is executing simple harmonic motion. When its displacements from the mean
position are 4 cm and 5 cm, then it has velocities of 10 cm/s and 8 cm/s respectively. The
time period of this simple harmonic motion is: /

U T IR 3mad Tfd forarfad &% 381 2| 9d Ared fRUfT & 59T fawuma= 4 9t
sﬁvsgtnﬁ%,?ﬁwﬁaﬂm: 1094/ 3R sAHYA B 1 59 WA 3MTdd Tfd B T
3rafy :

1.7 /2 second / 1t /2 YHS
2. second / T YHS
3. 3m/2 second / 3 1 /2 U S

4,21 second / 2 T AHS

Correct Answer :-
« 7 second / T Y&HS

28) If the value of escape velocity on a certain planet is 2 km/s, then the value of orbital
speed for a satellite orbiting close to the surface of that planet is: /



T [Hf3a U8 W= uargq a1 &1 9, 2 [P Ads 81 3fd: 39 Ug &1 Jdg & AP
IFB M aTel TP AIATSe B Hefig ATel BT HIH Id1S¢:

1. 1 km/s
2. 2N2 km/s
3. V2 km/s

4,10 km/s

Correct Answer :-

e \2 km/s

29) A man is riding on a cycle with velocity 14.4 km/h up a hill having a slope 1 in 20. If
the total mass of the man and cycle is 100kg, then the power of man is: /

TS i 14.4 fHHl/9eT $ 37 A TP RIE & FWR AEfepd aa1 @l ¢, Saprera 20 431 21
afe smeH iR ATsfrd 1 $o s 100fFT 8, @) Usw 1 fe 3:

1. 49W
2. 294W
3. 98W
4. 196W

Correct Answer :-

« 196W

30) A solid cylinder of mass 24 kg rotates about its own axis with an angular speed 100
rad/s. If the radius of the cylinder is 0.25m, then the kinetic energy associated with the
rotation of the cylinder is: /

24 fFAUTH SoaH $T TP 319 96 100 rad/s B HIUIT a1e I U Y3t U= gHAT 81 af aer
®1 f5=ar 0.25 wiew B, @ 959 & yoiv I 9 wfaw ot 2:

1. 3500J
2.3125]
3.3750J

4.3250J

Correct Answer :-

« 3750]



Topic:- Chemistry

1) Following are a group of Nitrogeneous bases present in Nucleic acids. What is the total
number of Pyrimidines in this group?

Uracil, Guanine, Thymine, Adenine, Cytosine /

YBT3 § HiN[g ATgeIoIg R® &1 Uh Iqg Hufafed &1 saagg o
fafefirdi= @t pa Ten w72

e, enfae, yraf, Tsfae, argeiiRE

1.4
2.2
3.5

4.3

Correct Answer :-

2) Arrange the following ions in the decreasing order of stability. /
fRRar & ged wa A Fufafad smet o1 cawir w31

Hy", Hy , Hp

1.Hy>Hy"=H,"

2.Hy>Hy,*>Hy~

3.Hy >Hy>Hy"

4. Hy*>Hy > H,

Correct Answer :-

¢ Hy>Hy">H,"

3) Which among the following is an essential amino acid? /
FrufefeEa % § o991 smazae erfiH This 82

1. Aspartic acid /QW'I% g

2. Lysine /Fﬂgﬁﬂ

3. Glutamic acid /‘FETVW 3T



4, Tyrosine / TRRIREA

Correct Answer :-

o Lysine/ algltl:l

4) Which of the following statements is INCORRECT regarding Terylene? /
fFrafafEa & @ S $y=F S & Jdy § Tera @2

1. Terylene is an example for polyester. /

el uiferueeR & fol ue ISR g |

2. Terylene is prepared by the addition polymerization. /
i P U dgad IRl gRT dOR fHar S gl

3. The catalyst used for the preparation of Terylene is a mixture of zinc acetate and
antimony trioxide./

A Bt A & fore 3wauTa fohar ST are SRS S Tfiee 3R TnH Trgsiags
&1 Ay gl

4. The monomers used for the preparation of Terylene are ethylene glycol and
terephthalic acid./

ﬁaﬁﬁaﬁ%ﬁﬂs@-ﬂmmwﬁ T A, TR Teg i 3R YRifere 3nd
[

Correct Answer :-

« Terylene is prepared by the addition polymerization. /

A 1 aRkael Igadieu gRT dOR a1 S g |

5) When the vapours of tertiary butyl alcohol are passed over heated copper at 573K, the
product formed is:/

WS IS FeT5d TehIgd B1 9T Bl 573 K TR TH did & SHUR A ICIRT o1dT §,
fAffa sare &:

1. 2-Methyl propanal / Z—ﬁmm
2. 2-Methyl propene / 2-ﬁru1sauﬁ=r
3. Propanone /uﬁﬂﬁ

4. Butanal / Sgcd

Correct Answer :-

« 2-Methyl propene / Z-ﬁ[m@lﬁ:{



6) The equilibrium constant for a reaction is 10. If R =8J K1 mol! and T = 300K, then

what will be value of AG’ for the reaction?/

T iffhar & forg aramaT fRRT® 10 81 A R =8IK~ 1 mol ~1 3R T = 300 K@ «I
3fuferar & fore AGO &1 |TF =T g I?

1. (-)5.527 kJK 'mol !
2. (-)55.27 kJK 'mol ™!
3. (-)5527 kIK 'mol ™!
4. (-)552.7 kJK 'mol!
Correct Answer :-

e (-)5.527 KJIK 'mol™!

7) The half life period of a first order chemical reaction is 6.93 minutes. The time required
for the completion of 99% of the chemical reaction will be:/

Uy BHife IRmaf-e ifHfsrar $t 3rzig 6.93 e 81 Imaf+e siffssar & 999 a@
WRIEH F RIE mavas I9g 8-

1. 460.6 minutes / 460.6 T
2. 46.06 minutes / 46.06 T&FC
3.23.03 minutes / 23.03 f&-c
4.230.03 minutes / 230.03 fi T

Correct Answer :-

. 46.06 minutes / 46.06 F-c

8) The rate of a chemical reaction doubles for every 10°C rise of temperature. If the
temperature is raised by 50°C, then the rate of reaction increases by:/

TS IRIaf® Sfiforar @Y g arua § ud® 10°C 3fs & Q1Y QT 8 ol 21 afe
ATIHH 50°C dF ST f&ar Siran 8, ot siffhar & g2 g seet:

1. 10 times / &4 T[T
2. 24 times / 24 T[T
3. 64 times / 64 Il

4. 32 times / 32 [l



Correct Answer :-

32 times /32 [l

9) An element having atomic mass of 75 crystallizes in a cubic lattice with edge length of 5A°.

If the density of the element is 2gcm ™ 3, then find the radius of the metal atom./

TRHTY] 4T 75 a1 U dcd, 5A? Basd ars & d1Y U1 Sa® H fpediod
g1 81 afe I &1 99 2gem - 3 B, af 1g WU @1 s g1 s

1.9.750 A°
2. 8.660A°
3. 2.165A°
4. 6.495A°

Correct Answer :-

o 2.165A°

10) What is the effect of temperature on the radioactive decay constant? /
et &ra fRRTH W ATTAT BT 1 THTE BT 32
1. The radioactive disintegration becomes 4 times. /

Afearedf fage 4 T R ST R

2. It will remain unaffected by change in the temperature./

dTgH H SGa1d I g SiuHIad g |

3. It will reduce to half with every 10° rise in the temperature. /
g AT | U 100 gig o Ty Teh 14T g1 S|
4. Radioactive decay constant becomes double with every 10° rise in the temperature./

o= § g 100 gia & a1 Mgt & fRRI% ST 81 ST 5|

Correct Answer :-

« [t will remain unaffected by change in the temperature./

dTgH H dedd I g8 f9YIidd 38|

11) In an experiment, it was observed that the enthalpies of combustion of carbon and

carbon monoxide are -393.5 kJ mol ~ ! and -283 kJ mol ~ ! respectively. Calculate the



enthalpy of formation of carbon monoxide in kJmol 1./

U UURT A, ug Uférd far sirar g b erd ofiv wrda M eiiags & g8 o T«
PHIT: -393.5 3T -283 kJ mol ~ ! &1 kJ mol ~ | § BT AN 3iTaATSS & FAtor &t vA«h
&1 ITOET PO

1. 110.5
2. 676.5
3.(-) 110.5
4.(-) 676.5

Correct Answer :-

. (11105

12) For a given shell in an atom, which one of the following electrons in an orbital will have
the maximum negative energy value? /

el urTy A RRw T R F fore, v wer A FHufefed saeei o @ faw siftean
TPRIAD ol AT G2

1. F
2.5
3.P

4.D

Correct Answer :-

13) A compound is made up of three elements X, Y and Z. X atoms are present at each
corner of the unit cell, Y atoms are present on each edge and Z atoms are present in the
centre of each face. The formula of the compound is:/

TS i di9 aadi X, Y 3R Z | Firad? a1 g3 8 1 TR X, e 9d & Udd diA |
JURRIA B, Y TRUTY A PR TR IUFRT & 3R Z TRHIY] TA® Bad & g H SUrRId
g | 9 &1 4 ghm:

1. XY¢Z3
2. XY3Zg

3. XY3Z3



4. XYZ

Correct Answer :-
e XY3Z4

14) In which of the following processes is a shape selective catalyst used?/

frafafea & & foa ufrar # v smoR 9uTare IARS &1 SN far sirar 82
1. Conversion of alcohol to gasoline / WBFI J TG H iR

2. Synthesis of ammonia / ST BT TRAYT

3. Synthesis of methanol from CO and H, / CO 3R H, T BT BT GIATUT

4. Polymerisation of ethylene / IIKIEE] EIET’IWUT

Correct Answer :-

+ Conversion of alcohol to gasoline / Tehlgd 9 ORINE R ESTIGRY

15) Which one of the following species does NOT have a coordinate covalent bond? /
fFrafafea & & fra wifa & aa-ag gewdioh smey 78 gar 82

1. HCOOH

2. H30*

3. H,S0,4

4. NH,*

Correct Answer :-
« HCOOH

16) Which one of the following elements is NOT a Lanthanoid? /
fraffad & d SiH-a1 da ddHTgs T8 22

1. Er

2. Pu

3. Tm

4. Tb

Correct Answer :-



17) Which of the following has the lowest entropy? /
frafafea 3 9 fSae! aad o0 Tl 82

1. Oxygen gas at 25°C / 25°C IR SfTerfto

2. Oxygen gas at STP / TSI IR SffqioH

3. Oxygen gas at 30°C / 30°C U} i

4. Oxygen gas at 0K / OK TR 3o 19

Correct Answer :-

« Oxygen gas at 0K / OK 0R 3fiaitor 19

18) Which of the following pair will show common ion effect? /

Frafafaa 9 9 @19-91 gw 9= sma= yyTg e

1. Barium chloride and barium nitrate / SRIH FARISS 3R SRTH ﬂns%j

2. Silver cyanide and potassium cyanide / REEIERIES 3R UefRrH NIERIES]
3. Sodium stearate and sodium chloride / TSTH TR 3R TSTH FRSS

4, Sodium chloride and hydrochloric acid / ofegs dﬂ\lilss S‘ﬁT 5|$§\|qﬂ\”{:{°h 3T

Correct Answer :-

« Sodium stearate and sodium chloride / TfSTH TRRTE R AIfeTH FARISS

19) Which of the following compounds has the highest value of Van’t Hoff factor?/
frefafea o 3 fa 9iftre | are 81w urie &1 Swad 9 8T 82

1. Ca(NO3),

2. K53[Fe(CN)g]

3. K»SOy4

4. Aly(SOy)3

Correct Answer :-

* Aly(SOy);



20) 1f 60% of a 15 order reaction was completed in 60 minutes, then 50% of
the same reaction would be completed approximately in:/

afe uyy Bife fUfHaT &1 60% , 60 fiTe A IRT Y /T o7, af 34T rffshar &1 50%
T S IHG H QRT3 STE:

1. 40.31 minutes / 40.31 fi e
2.50.31 minutes / 50.31 f&e
3. 55.31 minutes / 55.31 f&FC
4. 45.31 minutes / 45.31 e

Correct Answer :-

 45.31 minutes / 45.31 fiFe

21) Two subatomic particles (X, Y) are moving with different velocities. If the

wavelength of particle X is 10 x 10-8m, then what is the wavelength of particle
Y if its momentum is one-fourth of X?/

3 SURHTUg® BT (X, v) fAfH=1 3w & ary nfasfier &1 afe ®or x 1 a3 ¢edf 10 x 108
Hiex 8 @ ST Y &t a3 oo T g, afe sH®T Haw X & Ha &1 v 9uTs 87

1.4.0 x 10~’m
2.0.625 x 1078m
3.16.0x10'm
4.2.5x1078m

Correct Answer :-

e 4.0 x10’m

22) The type of isomerism exhibited by the given pair of compounds — ethyl
benzoate and butanoic acid is:/

fau T 9ifre! - Tfie Seive ik I fAe tirs & g gR1 ueiia JHragadr &1 yeR

[

1. Linkage isomerism /| ol JHTGIA]

2. Functional group isomerism / dOIqu-Idn He dHIdYddl
3. Coordination isomerism / JHdY JHIGIId[
4. Geometrical isomerism/\_Yqu?ﬂ'qWT

Correct Answer :-



« Functional group isomerism / BIAITHD FHE TG

23) A radiator of motor vehicle is filled with 8L of water containing 2L of ethylene glycol

(density = 1.12 g ml — 1) .What is the lowest temperature at which the vehicle can be
parked without the danger of getting water to freeze in the radiator. [Ks for water is 1.86

km~1)/

Hlex 18+ 1 TP IJTeR, 2 elteX YA Tagdid (89 = 1.12 g mi ~ 1) Afgd 8 dlex
T A URT BYT 8 | 98 <gAaH arqu 1 @ oy wR e uex & urt sva &1 waRT et

fopu fomr arg P @1 fPaT ST APaT 81 (U & fT K 1.86 K m — 1 81
1. -8 .4°C

2.-23 .2°C

3.-11.6°C

4. -4 .2°C

Correct Answer :-

e -8.4°C

24) What is the total number of sigma and pi bonds in Prop-2-yn-1-ol?/

WY-2-g-1-3ife ® Rian 3R pi e (97) 3t oo T=m &1 82

o bonds =8 7 bonds = 1f
1 G’HI_EEFZS ?IE!'_IEEF=1
g bonds=6 7 bonds = 3/
5 crﬁ:lﬁf'ﬁ‘:f=5 TIEI'EEF=3
¢ bonds=7 7 bonds = 3/
3 GEI'EH:? ?IE-E_'HZE
¢ bonds =7 7 bonds = 2/
A GEI'ETH:? ?IEI'E':FZZ

Correct Answer :-



o bonds=7 7 bonds = 2/
a E-E“EFI =7 T E:l-SjFI =3

25) What is the value of K, for the given reaction at 796°C?

2NOCI (g) = 2NO (g) + Clx(g)

Given: Kc = 3.75x 10" %/
796 °C W ¢} 71§ SfHfSpAT B K, T I 1 82

2NOCI (g) = 2NO (g) + Clx(g)

fear AT 8: Kc = 3.75x 10~ 6
1.333x10°°

2.6.66x10°°

3.6.66x 104

4.329x 104

Correct Answer :-

« 329x10 4

26) Two ions X * and Y ~ have the ionic radius 88 pm and 200 pm respectively. In the close
packed crystal of compound XY, predict the coordination number of X*./

Y Mg X * 3R Y~ @} mufe fAsur HRr: 88 3R 200pm &1 XY N & d¢ Uas fpea H,
X+ B GHGY HBT B JTd BIoC|

1.4
2.8
3.6

4.3

Correct Answer :-



How will vou increase the production of SO3 gas in the given process?

2802 + 0z == 2503 + Heat/
g Arafaf@a uisar & sos 39 &1 g UK 3d™iea gaaan

2502 + 02 === 250: + FSHT

1. By increasing temperature and decreasing the pressure. /
AoEH H gfs 3R 391 B HH B

2. By decreasing temperature and decreasing the pressure. /
A § B 3R qara H Bl BRb

3. By decreasing temperature and increasing the pressure. /
Ao § S 3R ga1a | 3fg dRop

4. By increasing pressure and increasing temperature. /

gard ¥ gfg 3R aueH § gfg o

Correct Answer :-

« By decreasing temperature and increasing the pressure. /

o § B 3R ga1a | 3fg dRap

28) [Cu(NH3)4]S04 is a coordinated complex with a coordination number of/

[Cu (NH3)4 1SO4 B WY W& Aigd TP WA difie (PlsHcs Pirwad) 3
1.0

2.4

3.2

4.3

Correct Answer :-

29) Arrange the following compounds in the increasing order of their boiling points.

P = Propanal Q = Propanoic acid R = Propan-1-ol S = n-Butane./

frafefad aiftrel & 39 FUAIP & 9¢d HH H Hafd B |



P=TU9d Q= WIU-Is® TRIS R= MU-1-3iTd  S= n-sgeA
1.LP<S<R<Q
2.8<R<P<Q
3.3S<P<R<Q
4.Q<R<P<S

Correct Answer :-

« S<P<R<Q

30) Ethyl benzene on oxidation by KMnO4 forms which of the following products?/

KMnO, GRT JITRITHUI TR 3UTsd doi+, Fufiafeaa o | frg Sare & samar 82
1. Acetophenone / THEIt-IH

2. Benzophenone / SSltsIA

3. Benzoic acid / SGlgd 3T

4. Benzyl alcohol / -G\I'UII{SG 31c'd°\|601

Correct Answer :-

« Benzoic acid /Q@W 3T

Topic:- Botany

1) A gene of 600 nucleotides will code for a polypeptide chain of amino acids. /

600 gfFTNTTSS BT TP S ST 3T B U Uiferderss g & forg
PG (PIS) DA

1. 200
2.202
3. 300

4. 198

Correct Answer :-

« 200



STHRATDT A STARIBT H HDBT A 8¢ MU= AN1gH fear:
1. Protein synthesis / I HReyor

2. Z-DNA / z-81TT

3. Mutation / SR

4. DNA replication / ?fl'Q:l'Q Uﬁ?ﬁd

Correct Answer :-

« DNA replication / STy m

3) Respiratory Quotient of anaerobic respiration is: /
AT 4 BT YT UTTHA gIaT g

1. 00

2. Zero / YU

3.>1

4. 1

Correct Answer :-

4) The undifferentiated sheath which encloses root cap in a monocot seed is termed as:/
faNfea 1z o) vrdiout fiv & ga v (Fe $U) F Tau s ¢, AT searar e
1. Coleoptiles / W EIK|

2. Coleorhizae / W EI|

3. Calyptrogens / HIFEAuE

4. Calyptras / 3TRATT M

Correct Answer :-

« Coleorhizae / JTHR El|

5) Choose the most correct reason for the development of PEN that precedes the
development of zygote (embryo) in angiosperms. /

%ENQ?%ﬁm%gmﬁﬁwgﬁaﬁ%mwﬁﬁw(m%maﬁm
ST B |



1. The zygote remains dormant for a short period. / Uch IHAS e 3afy & fore fAfsha v
gl

2. The endosperm ensures nutrition for the embryo. / W, Pl o ferg Uiy ﬂﬁﬁiﬂ FRAT |
3. PEN is triploid so it divides first. / PEN IO § 39eTT U8 Ugd fquIiord g1 8

4. All of these / ST Tt

Correct Answer :-

+ The endosperm ensures nutrition for the embryo. / HUI'@IW, Yur o fore giwor ﬁﬁf’:ﬁf FRAT G

6) Alcohol fermentation by microbes to obtain different types of alcoholic beverages is
mainly based on the: /

fafta yoR & Ure® 99 Urw SR & T geaeiial gRT siehigd fhvad g&1 & U 3 A
Waﬂﬂm%

1. Distillation process only / PHad I Ufehar

2. All of these / ST d Tt

3. Type of nutrient medium only / Had AYH HIETH BT UHR
4. Type of brewer’s yeast used only / FHad JR IR & UHR P SKHA

Correct Answer :-

« All of these / Sugpd T+t

7) Prothallus is an independent gametophyte seen in: /

TR T e THS NG (FEIBT3e) 3, Sl $0H & Sl 6:
1. Thallophytes / a?’ﬁm

2. Bryophytes / ﬁ@m

3. Pteridophytes / %ﬁ@m

4. Angiosperms / &nqaa%ﬁ (Qﬁtﬁ?qﬁ)

Correct Answer :-

« Pteridophytes / éﬁ@m

8) ABA acts antagonistic to which hormone with regards to seed and bud dormancy? /

W 3R Felt FAfSpadr & day A foryg gl & forw ABA UfoRIeh & T u A &1d Hra1 82
1. Cytokinin / TSI



2. IAA

3. Ethylene /U DKIG!
4. Gibberellins /ﬁrﬁﬁﬁﬁ

Correct Answer :-

« Gibberellins / foreRfeE

9) Golden rice is genetically modified to produce B3 carotene to solve the problem of: /

e TuT & G & 1T gAeR arad (NS A5H) B 8 BRI BT TG He
2 AP ©u | SN far man 3:

1. Iron deficiency / TR P HHI

2. Obesity in developed countries / faeRid <=1 # Averdr
3. Zinc deficiency / fSich &1 Ht

4. Blindness and premature death / 3{eTd= 3R 3fpTe g

Correct Answer :-

« Blindness and premature death / 3feTu 3R 3{hId Y

10) Which cell of the female gametophyte acts as the endosperm mother cell? /

HIGT B Ifgg (THSIBISE) BT DIH-U DITRIDT YOINY F-1 HIFRASBT (TSHUH TR
@m%wﬁﬁm‘m%ﬂ

1. Synergids / Hgld $-||§|$|Q'
2. Central cell / BT HIRIHT
3. Antipodal cells / Ufdearid W (‘Q_Cﬁtngﬁ ﬁm

4. Egg / 38T

Correct Answer :-

o Central cell / W m

11) Which one of the following is NOT a functional unit of ecosystem? /
frafifad & @ w19 uifRifes 53 1 ve srias 5o T8 2

1. Energy flow / Sl udTg

2. Stratification / ESRIERU|

3. Nutrient cycling /WWW



4. Decomposition / 3UYcH

Correct Answer :-

« Stratification / TRIHOT

12) Which one of the following nitrogen base is present in DNA but NOT in RNA? /
fFafafEa & @ $-a1 Tseioe 99 Siee § Mg 8 a6 sruae ¥ 981

1. Cytosine / BSIECINIE]

2. Uracil / SR

3. Guanine / ﬂ&ﬂﬁ:{

4. Thymine / e

Correct Answer :-

o Thymine / e

13) Which among the following is a hybrid variety of rice developed in India? /

fFrafafad ¥ 9 o1 uRd ¥ faeRa aaa # e g P 3
1. Himagiri / fgAMR

2. Semi dwarf rice / SGaHT ATad

3. Jaya /ol

4. Pusa swarnim / Q9T wafofq

Correct Answer :-

14) Which among the following is the pioneer species during hydrarch succession? /
fraffad d @ 19 Sar W e & SR Sroft wifa 82

1. Small phytoplanktons / B¢ UTGUWIdH

2. Free floating angiosperms / ! Tl Qﬁl’cn?qfl

3. Grasses / Yl

4. Rooted hydrophytes / SIS ard E@m

Correct Answer :-

« Small phytoplanktons / B¢ UIGU&Id®H



15) Which of the following hormones is NOT auxin? /
frufafeaa 3 @ o1 g Siffea 161 82

1. IBA

2.24,D

3. IAA

4. ABA

Correct Answer :-

« ABA

16) Which of the following ferns also show heterospory apart from Selaginella? /

Frafafad § @ SF-ar B ot AARAe & srearar v @< guR) e @2
1. Salvinia / Seai=aT

2. Psilotum / I3y

3. Adiantum / Tf&TicH

4. Pteris / ¢

Correct Answer :-

« Salvinia / Seal=T

17) Which of the following is WRONGLY paired? /

fFrafafaa & @ s19-a1 Tad gfa 82

1. Water of coconut : free nuclear endosperm / =TT T U Had BIREIR H:UTCn'Ef
2. Kernel of coconut : cellular endosperm / iad & Rl PIR® Q{U@W

3. Scutellum : embryo of coconut /URAc[h: ATRTE &l Hul

4. Shell of coconut : fused pericarp and testa / TRI T Wd: T BATHRT (RS WH1d) 3R
SorEd (S¥eT)

Correct Answer :-

+ Scutellum : embryo of coconut /MR b: TR bl Hul

18) Cotton and jute are crops. /



HUN 3R ¢ A 3
1. Cash / -T&al

2. Hilly / ggrel
3. Rabi / 3!

4. Kharif | @RI%

Correct Answer :-

« Kharif / T®

19) The enzyme recombinase is required in which stage of meiosis? /

AU & 59 arur ¥ Torgw gaiTe (Rerqai-e &t snaadwdr gidl 82
1. Pachytene / HYdUs (Em&ﬁ)

2. Diplotene / ISR

3. Zygotene / \_T||$‘i|é|:|
4. Diakinesis / ORITTdghH

Correct Answer :-

. Pachytene / Y@UE (UPHIS)

20) Trace elements are those elements that are required in small quantities of: /

o Tcd (Y& dqd), T aqd 81d & o1 (9 T | Sa=asar gidl o
1. 0.1 mmole/kg / 0.1 ot/ fearma

2. Less than 10 mmole/kg / 10 freiHa/feaum™ I &H

3. Less than 1 mmole/kg / 1 o/ fharmd ¥ &9

4. Smmole/kg / 5 e/ A ey

Correct Answer :-

« Less than 10 mmole/kg / 10 e/ feame I &F

21) The type of chromosome with the centromere at the centre is: /
&% ¥ TURETAG (HeHR) & 1Y TR &1 UPK &:

1. Telocentric / %Eﬁ@@a? 71 3fdd gt

2. Sub-metacentric / 3U- BTdbal AT W—ﬂ?@m



3. Metacentric /fl?mtﬂ Ocrhal
4, Acrocentric / W T 3B T=h

Correct Answer :-

» Metacentric / ﬁa@@w g1 et gt

22) Pickling is a process of preserving foods in: /

AR T A1 T @ verdf o1 fu d Wféa 313 91 to ufpar g:
1. Vinegar only / Pad RR&1

2. Vinegar and salt / Had RRT 3R THD
3. Vinegar and vegetable oil / HId RR®T 3R g7wfd dd

4. All of these / STYHd Tt

Correct Answer :-

 Vinegar only / FHad RR®T

23) A form of asexual reproduction which mimics sexual reproduction is: /
SARP Yo BT TP FU Sl AN Yo BT SIHRUT HRal &

1. Parthenocarpy / NI

2. Apomixis / 3T

3. Vegetative reproduction / CAIREASRE

4. Parthenogenesis / SfANHTT

Correct Answer :-

« Apomixis / 3T

24) The purpose of blanching (boiling in water) vegetables before freezing or canning is
to: /

feftewor a1 fesarad) @ vga afosral &t saifet (Ul & IaTeq) F34 &1 ST (= glar 8:
1. All of these / STG&Hd it

2. Only soften vegetables and make them easier to pack. / ad Jfesal &l RHA T 3R I7 U A |
T 9 & ferg|

3. Only inactivate the enzymes that cause loss of flavour, texture and colour. /

Fad 31 CTsH! $I ASHa AT S WG, UPid 3R T & THEH B RO I |



4. Only destroy microorganisms on the surface of the vegetables and help to retard loss of vitamins. /

Had I B Tds R JASTd! DI A8 I R faeifiE 3 HH S AP § Aag A & fadl

Correct Answer :-

- All of these / SUgHd Tt

25) Gram staining identifies bacteria into gram positive and gram negative on the basis
of: /

T ARSI SHam] ) A9 & SMYR W I YATHS 3R I BUMHS H Ug=dT ¢
1. Cell wall / PIfRrHT ff

2. Cytoplasm / PIRIHT G

3. Granules in the cytoplasm / ITRIHT GH (mﬁ":{) o HreTe

4. All of these / STYHd Tt

Correct Answer :-

. Cell wall / BITRI0T fHfT

26) The minimum length of cistron in base pairs, which synthesis a polypeptide chain of
100 amino acids is: /

&R® gl °§ R (PHIP) Bt YAAdH Ga1s, St 100 HAY 3T $ UIUPIss g ot
LA wedt B, e 8

1. 100
2.200
3. 300

4. 400

Correct Answer :-
« 300

27) If a cell in the stem of a plant has 24 chromosomes, then the number of chromosomes
would be: /

gfe T WY & a1 B Th HIRBT H 24 UG § 99 UG 3t @1 ghft:
1. 12 in gametes / DI T 12

2. 12 in root cell / J& DIRTBT T 12

3. 24 in gametes / JHD| T 24



4. 48 in embryo / YUl T 48

Correct Answer :-

+ 12 in gametes /Wﬁ 12

28) Which among the following statements is INCORRECT regarding the Fluid-Mosaic model
concept given by Singer and Nicholson? /

%ﬁﬁﬁq-maﬂ%ﬁﬁﬁﬁﬂﬁ%%—%%ﬁﬂ%ﬁﬁw
S AT?

1. Phospholipids have a hydrophobic head and a hydrophilic tail. / BIRpIfue] # TP SIiaRM]

(@TSSIPIfe) T 3R T SIeRil (B3 gl D) Ug §1d B
2. Lipids are arranged as a bilayer. / foftre ts fguRd & U H sgafRyd 8id %I
3. Proteins are floating in a sea of lipids. / Oiet, fafts & U JHx A RAE

4. The fluidity refers to the movement of molecules within the lipid bilayer. / dRadr fafts fgRa & iR
3rup3it Y If Y Weffa Bt B

Correct Answer :-

« Phospholipids have a hydrophobic head and a hydrophilic tail. / TIERITIUS] H Udh STATARTIT

(@3 ShIfad) Y 3R T Sierrf (8Tgs fhferd) Uy ga B

29) RuBisCO is the most abundant enzyme in the world because: /
RuBisCO (&faw)) gfar & I R teirgy 8, wife:

1. It is required by the green plants for photosynthesis. / g W are GR1 U1 YAyl o forg
HaIF g |

2. It can absorb maximum CO, during photosynthesis. / g UhIR[ TRATOT & SR Siferemad
COp P RN H Fhal 5|

3. Its active site can bind with both CO, and O, and is found in leaves. / $T®! Tfded Tge CO, 3R O, THI &
1Y §Y Tl § IR uferdt § s ol R

4. It can release oxygen from all the plants in the world. / T8 g+aT & T Melf § HTeRfSH Yad HR Ihell 7
Correct Answer :-

« Its active site can bind with both CO, and O, and is found in leaves. / 39! Tfded e CO, 3R O, Gl
& 1Y §Y bl § SR uftrl F Ui e B

30) The cytoplasmic connections between adjacent cells are called i

ATA FIRP13 & ¥ FIREE! g (FZe @D HARM) Pgard gl
1. symplasm / 95



2. plasmalemma / TATSHTHT
3. plasma membrane / Y& BRIl (Gﬂaaaq )
4. plasmodesmata / Ugoddq

Correct Answer :-

« plasmodesmata / F&aAd]

Topic:- Zoology

1) The fluid filled cavity antrum is found in the ./
TRA A R 3T BT Blex (Hfadt TeH) H g STat B

1. tertiary follicle / (jdnltlcb ych (Bifcrehd)

2. secondary follicle /@?ﬂw Jch (UO\IJIraObQ”I)

3. primary oocyte / TTUfH® fSTRTUCH® IRIT (37€h)

4, primary follicle /EIT'QW Jch (Lhmcbﬂ)

Correct Answer :-

. tertiary follicle / J1d® Y& (Wifeidhd)

2) Ascorbic acid is also known as: /

THAG AP FEqd i AT A gl
1. Vitamin B / fdeTfam &t
2. Vitamin D / faeTiiq S
3. Vitamin ¢ / fqeTiam <t
4. Vitamin A / e ©

Correct Answer :-

e Vitamin C/ﬁ?’lﬁﬂ?ﬁ

3) Name the vitamin formed from carotene, which is a vegetable pigment. /

FAAT A 779 a1 AT &1 9 Fang, S v g9wfa auie g1
1. Vitamin B / faeTfaA &t
2. Vitamin D / faeTfi St
3. Vitamin C / fqeTioe 9t



4, Vitamin A/ﬁ?lﬁ-l_"fQ

Correct Answer :-

« Vitamin A/ fdeifA T

4) Name the duct formed when the cystic duct joins with hepatic duct. /

39 FAftfa aifght &1 = sage w9 o= aifg (Rifes s9e), agpa aife gufcs soe) &
1Y S AT 81

1. Hepatopancreatic duct / B GHTRI dlfe! (RUIUh3{cd Sae)
2. Pancreatic duct / STRNRI® dTfg- (Ufsh3ifesd Sae)

3. Common bile duct / Gd O aIfg=t (18 a3 So)

4. Salivary duct / ARUMRY a1feT (Aferh Sae)

Correct Answer :-

e Common bile duct/HﬁﬁT‘T?ﬂ%:ﬁ (asTn:raTs’a—s'aE)

5) Dermatitis, diarrhoea and dementia are symptoms of the deficiency of: /

TARIY, 3 SR A=Y= =T ot Hft & Agron g
1. Vitamin A/ fdeT®&= A

2. Vitamin ¢ / fdeTf® T ¢

3. Vitamin B3/ facTf# 83

4. Vitamin K/ faeTiee «

Correct Answer :-

« Vitamin B3/ fdeTf&= B3

6) The circular muscle found at the junction of stomach and duodenum is: /
U< 3R U $t Wi 1R Urg oM arell gare R iaaRh A gl B
1. Anal sphincter/&lﬂﬁﬂ:ﬁﬂ?[

2. Cardiac sphincter/ﬂ?‘l'%@ 3G

3. Meissner’s plexus / HISHR R

4. Pyloric sphincter/GIBTﬁqu SERIYAT

Correct Answer :-

e Pyloric sphincter/\_rIBTﬁTﬁ:I AT



7) Corpus luteum is formed from: /

dia s @rdawgfeaw _ afffasiars
1. Primary follicle / UT4f8® edh (Wlfcrdhal)

2. Secondary follicle / fgdia® e (Wiicidha)

3. Graffian follicle / UTfha &b (Bilciahd)

4. Tertiary follicle / Jd1d® Yo )WbITcidba(

Correct Answer :-

e Graffian follicle /WW CARETS)!

8) Which of the following is a birth control device used by a male? /
frafafeaa ¥ @ S19-91 W gRT STahT far oM aren Tafa e fafy @i fPRtue fearsa) @2
1. CopperT/W_Cpf

2. Diaphragm / ST TH
3. Condom / HeH
4, Oral pill / TE Tl (3R fUa)

Correct Answer :-

« Condom /&S

9) Which of the following is an exocrine secretion? /

Frafafed # & 919 1 afe:-91d) 99 @aws W) 82
1. Oxytocin / SqeIRMA

2. Saliva /R

3. Thyroxine / ’vﬂgﬂv@‘éﬁ

4. Vasopressin /a@lﬁﬁﬁ

Correct Answer :-

e Saliva/dR

10) The mass of neurons in the peripheral nervous system is called i
R dfeT o | e siflkreei (RRTT) & S| &t CaEcinIE
1. nuclei / 9% ((gaITS)



2. tracts /?ﬁlf (EI'UTIFﬂ)
3. nerves / AT ﬁa‘)

4. ganglia / T3 (:I'I@:I'ﬂ'ﬁ‘\ll)

Correct Answer :-

o ganglia /ﬁ"FﬁG{I (-TI?ﬁ"JF@D

11) A population having mostly younger age group means its ./
S ® SfUeiRId: gaT 3y a7 & @i & g1 wr S B

1. death rate is high / HJ a¥ 3=d %I

2. both birth rate and death rates are equal / STH qX 3R HY &} a:ﬁ gHE %I
3. birth rate is high / STH qX 3= gl

4, birth rate is low / STH GX HH %I

Correct Answer :-

« birth rate is high / S/ G A & |

12) The cause of ovulation in female is attributed to: /
HTST § SIS HT HRUT F=1 & T SI1eT 3:

1. inhibit FSH and stimulate LH secretion by anterior pituitary only /

Had T Tt (AR fUeyesh) gRT ThUITd & -1 3R Tadd 91 B 3ford
DT

2. All of these /B'Cléaﬂﬂlﬁ

3. increase salt concentration of the liquor folliculi only / Had faa ych (Llera dﬂﬂlé) & aU]
g H gl
4, increase in osmotic pressure and rupture of the Graafian follicle only /

Had IRV 1§ | g 3R UTh1 gedb (M hitadhd) &1 gl

Correct Answer :-

- All of these / SUgad Tt

13) The best method to overcome inbreeding depression is: /

3Ad: YOI AU (SAMTST FEURM) B gR B BT I 3BT RNl 8
1. Cross breeding / UR Yol (W\’m @'@T)



2. Out breeding / ET%:EIGF‘FT (313< aﬁ%m
3. Out crossing / Sfg:gHeur (3T3<C W\ﬁ%m)

4. Interspecific hybridization / ARTSITAY YHUT (SRWURITb S SR IFSTZIRMA)

Correct Answer :-

 Out crossing /Eﬂ%zw (313 H’T\I{m‘T)

14) Which one of the following is NOT included under in-situ conservation? /
fFafafEa o @ sF-a1 57 dfig<re & aga Wida 781 82

1. National parks / T@’q 3

2. Sanctuary / S¥RUY

3. Sacred groves / gfas Iqaq

4. Botanical garden / G-Il 3

Correct Answer :-

« Botanical garden / g g

15) Which of the following is NOT a feature of the Neanderthal Man? /
frafafeaa & @ $19-8 Frisvye ara 1 fagivar 751 82

1. Used hides to protect their body / 30 TRR &t Rl & ]%‘I'Q Elﬂ% BT TR Hd Y|
2. Developed cave art / dfs\l"jl ThT hdl CARGEAR ARG

3. They buried their dead /a 3 J—jdch\f &I c‘(UD'-IIa D
4. Brain size -1400 cc / AT BT THR - 1400 AT

Correct Answer :-

« Developed cave art / 3519 W1 bl BI fabRyd faban

16) Which of the following taxonomical aids provides information for identification of names

of species found in an area? / ﬁ'erl%r@aﬁﬁaﬁq-mmﬁww (éﬁ'\‘ﬁqﬁﬁ) Heldd,
it &1 o urs oA areft yenfaal & AT F ugaE 11 8d SHBR! UeTH Hdl 82

1. Manuals / 199 U ('EEI,&IT’T )
2. Catalogues /W 4Ug (W’T"T)
3. Flora / Tl THg (TRIR1)



4. Monographs / AR

Correct Answer :-

. Manuals / 0 TW& (@331)

17) The correct sequence of Hierarchy in biological classification is: /

wifa® FEifevor & uergsha &1 I8 Fa

1. Kingdom, Class, Order, Phylum, Family, Genus, Species / SId, an, RILUN QTJ, P, aQT, STt
2. Kingdom, Order, Class, Phylum, Family, Genus, Species / SI¥d, U], an, T4, D, Ly STfd
3. Kingdom, Phylum, Class, Order, Family, Genus, Species / SI7Id, F.T‘J, an, T, o, ?:i?zr, Sfd
4. Kingdom, Family, Class, Order, Genus, Species / SI¥Id, P, ?Ff, 07, 9, ST

Correct Answer :-

« Kingdom, Phylum, Class, Order, Family, Genus, Species / SIId, Ty, an, T, & d], Ll STfd

18) The system which fails in a person with AIDs is: /
Usd 91 et A 98 7F (Rew) fawa gt wman &:

1. Digestive / Ul

2. Pulmonary / Up! (tIFﬁﬁ:Iﬂ)
3. Nervous / AfA®T
4. Defence/qm&‘l'fm

Correct Answer :-

« Defence / UfaRef (%W

19) Which of the following is the vascular connection that exists between digestive tract and liver? /
FrafifEa § @ Sf-ar daght ey g St ure Arf SEefRd ¢ae) 3R apd & ia Hisg g1 82
1. Hepatopancreatic duct/%ﬁww

2. Renal portal system /ﬁ:ﬂtﬁéﬂﬁlﬁﬂ

3. Hepatic sinusoids/mﬂmm
4. Hepatic portal system /%@aﬂéaﬁw

Correct Answer :-

e Hepatic portal system /%@amﬁ'c‘aﬁw



20) ‘Cri-du chat' syndrome is an autosomal genetic disorder due to: /

‘ﬁ?-§a€' (Cri-du chat)ﬁi@'ﬂ@ aﬁﬂmaﬁﬁmméﬁﬁﬂ%wﬁm%
1. Non-disjunction / NIEUISE]

2. Deletion /ﬁ?ﬁ'q:f

3. Mutation /wha?h

4. Duplication / fg7uH

Correct Answer :-

e Deletion /ﬁ?ﬁ'q:f

21) The instrument that helps in the clinical assessment of pulmonary function is: /
9§ YDV Sl PRPHTT USRI & A ATHa- § Hag Bl 8:

1. Sphygmomanometer / Wﬁjﬂa

2. Ammeter/&ﬂﬂa

3. Barometer/aﬁjﬂa

4. Spirometer / WRHER

Correct Answer :-

« Spirometer / TR

22) Glial cells are the most abundant cells in: /
freraa sifkreTg # HaH YR PIRST Belt 71
1. Lungs /m

2. Kidney / ﬂ?ﬁ

3. Gallbladder / TORIT=T

4. Nervous system /W?ﬁ

Correct Answer :-

« Nervous system / AT dF

23) Reptiles have a three chambered heart, EXCEPT for:/
& 3ramar, T3l A 9 Hefia geu T 2l
1. Lizard / foudme



2. Snakes / g
3. Crocodiles / HIRH=S
4. Tortoise / PGS

Correct Answer :-

e Crocodiles / HIRH=S

24) Which of the following is NOT a treatment for cancer? /
Frafafea & @ oF-a1 FIR o1 3019 T8 82

1. Chemotherapy / DHIHIARGY

2. Physiotherapy / Mifass fiferen (pforamadh)

3. Immunotherapy / W& fafdbet (31117?[ ey

4, Radiation therapy / fafarvor e

Correct Answer :-

« Physiotherapy / Wifae fafere (pforaradh)

25) A population showing higher rate of birth than the mortality rate indicates: /
TG & Bt gAT | O P I &R G aTeAl SIS A<l 8

1. Fluctuating growth /Uﬁﬂ?ﬁﬁ'@

2. Declining growth / IHHIT Q@

3. Zero population growth / [ CELSEEd) qiﬁ&

4. Exponential growth / SRUIGIEIR CJI:E(

Correct Answer :-

« Exponential growth / ERCIGIEIR q@

26) After gel electrophoresis, the separated DNA fragments can be visualized only after:

/

I dggaBURITAH & UYTd, JUYP §U ST WSi (BHe) Bt bad & uYTd Hfeud fpar
ST e 2

1. Staining in ethidium bromide followed by exposure to UV light as bright orange coloured bands

/
RIS UhT & U | 3 A IHSB I AR T P §8 & U § TS sage o
SRSH




2. Staining in methyne blue followed by exposed to UV radiation as blue coloured bands. /
RIS fAfHR0T & U T o § Hd T F o8 b 9 T AU s & RSH
3. All of these /Uqgaﬁﬂlﬁ

4. Staining in ethidium bromide followed by exposure to UV light as blue coloured bands /
RIS THT & Fudh # 31 F Hid 31 & o & =0 & uiifeay sags # iR
Correct Answer :-

« Staining in ethidium bromide followed by exposure to UV light as bright orange coloured bands

/

TRISTHT UHT & Uh H 3 T IHB I TR TP o8 & U H TS siags A
SRS

27) Amniocentesis, a prenatal diagnostic test used for determining foetal sex, genetic
anomalies and biochemical abnormalities, is based on: /

TR R, yur & fi, srgaifXre fawerfaay ofik wia e sram=arst @) Ruffa $3 &
forT vt o ST+ 9T U wId qd e uiteor TR 3Tyt BT 81

1. The karyotyping in the amniotic fluid / Toaifeds aRA AT JULSEERSE (W)
2. Chorionic villus sampling / HINAIA® faey Jufer
3. Umbilical cord blood sampling / TN Io3] Xard TUfeiT

4. Ultrasound / 3HccHI3US

Correct Answer :-

 The karyotyping in the amniotic fluid / Q'@Rﬂ% RAHT TUILAU Y (W)

28) The fast block to polyspermy occurs due to the: /

ggdtorar (dfdiendT) & fg vRe wife e & FRoT g B

1. Inactivation of binding receptors on the vitelline membrane / DIRED %ﬁﬁ (ﬁ%ﬁl_"f 'a'@_"f) W
ECREANRIERIEIEIREIERn]

2. Influx of Na* and the out flux of Ca* / Na* T 3f<fafg 3R Ca* &1 sfgalg

3. Influx of Na* and depolarization of ovum membrane / Na* T 3dfg 3R & fRreett o1 fagaur

4, Outflux of Na¥ and depolarization of ovum membrane / Na*t &1 Eﬂ%?ﬁ%' IR f&a ]%lﬁﬁ Eal ﬁgam

Correct Answer :-

« Influx of Na* and depolarization of ovum membrane / Nat T 3fafg 3R f&§ freelt &1 fagau



29) Darwin’s finches in the Galapagos Island is an examples of: /
fore AT S fFg_ @1uw SamRur gl

1. Mutation / Wﬁﬁ?‘h

2. Convergent evolution / YR fawr

3. Concept of use and disuse /BTI@T[ 3?|T 3@@7[ P ATYROT

4. Adaptive radiation / &Iﬂw faxur

Correct Answer :-

« Adaptive radiation / 3JHdll fdhUT

30) A person who has been vaccinated for certain viruses has acquired the ./

POD aTaRH] & g ST T T fed B T B STl 3 |
1. natural active immunity / U1 id Hichd UfcREf

2. natural passive immunity / T (TShT UfaRen

3. artificial passive immunity / 1 fAfehT ufaren

4. artificial active immunity / BT Afehd UfaR&T

Correct Answer :-

e artificial active immunity/qum&ﬂ

Topic:- General English

1) Choose the appropriate prepositions for the given sentence:

According ____ the guidebook there are three hotels _____ the town.
1.to,in

2. to, at

3. from, into

4.in, to

Correct Answer :-

2) Choose the appropriate prepositions for the given sentence:



Iwas___ the impression that I had paid you ___the work you did for me.
1. to, at

2. in, by

3. for, of

4. under, for

Correct Answer :-

o under, for

3) Choose the appropriate prepositions for the given sentence:

mistake I opened Mary's letter instead ____ my own.
1. By, of
2. For, into
3. Under, for

4. Of, by

Correct Answer :-

4) Choose the appropriate articles for the given sentence:

Eachof __ suspects had ___ alibi and they were set free by ___ judge during the trial.
l.an,a,a
2.a,an, a
3.the,a,a

4. the, an, the

Correct Answer :-

« the, an, the

5) Choose the correct form of phrasal verb for the given sentence:



If you study hard from the beginning of the course, you will with flying colours in the
examination.

1. come to
2. come off
3. come up

4, come in

Correct Answer :-

e come off

6) Choose the correct form of verb that is in agreement with the subject for the given sentence:

The slices of bread and ready to be served.
1. is buttering

2. was butting

3. was butter

4, were buttered

Correct Answer :-

o were buttered

7) Choose the correct form of verb that is in agreement with the subject for the given sentence:
The singers as well as the dancers to report backstage by 5 p.m.

1. had been

2. have

3. has

4. 1s

Correct Answer :-

« have

8) Out of the following options, identify the sentence with a spelling error.
1. We require more persons in our HR department.

2. We require more personal in our HR department.



3. We require more personnel in our HR department.
4, We require more people in our HR department.

Correct Answer :-

« We require more personal in our HR department.

9) Out of the following options, identify the sentence with a grammatical error.
1. We all went for a walk.

2. This is an universal truth.

3. Honesty is the best policy.

4. Did you buy a pizza yesterday.
Correct Answer :-

o This is an universal truth.

10) Choose the appropriate articles for the given sentence:

If you speak in soft tone, it has calming effect on the
customer.

1. the, the
2.3, an

3.3, a

4. an, a

Correct Answer :-

11) Choose the option which is a compound sentence.
1. John finished his work and went for a movie.

2. I know a person who sings beautifully.

3. Having finished his work, John went home.

4.1 can’t see unless I wear my glasses.

Correct Answer :-



« John finished his work and went for a movie.

12) Choose the option that best transforms the given sentence into its comparative degree:
The mango is the most nourishing of all fruits.

1. The mango is so nourishing of all fruits.

2. Some fruits are less nourishing than the mango.

3. No other fruit is as nourishing as the mango.

4, Very few fruits are more nourishing as that of the mango.

Correct Answer :-

« No other fruit is as nourishing as the mango.

13) Choose the option that best transforms the given sentence into its active form:
A heavy loss might be suffered by her.

1. She might be suffered with a heavy loss.

2. She may suffer a heavy loss.

3. She might suffer a heavy loss.

4. A heavy loss might be suffering by her.

Correct Answer :-

 She might suffer a heavy loss.

14) Choose the option that best transforms the given sentence into its passive form:
People worldwide are harnessing the power of frozen streams.

1. The power of frozen streams are being harnessed by people worldwide.

2. The power of frozen streams are harnessed by people worldwide.

3. The power of frozen streams has been harnessing by people worldwide.

4. The power of frozen streams is being harnessed by people worldwide.

Correct Answer :-

« The power of frozen streams is being harnessed by people worldwide.

15) Choose the option that best transforms the given sentence into its superlative degree:



The Himalayas are higher than any other mountain in the world.

1. The Himalayas are the highest mountains than any other mountain in the world.
2. The Himalayas are the highest mountains in the world.

3. No other mountain is the tallest in the world as the Himalayas.

4. All mountains are least highest of the Himalayas.

Correct Answer :-

« The Himalayas are the highest mountains in the world.

16) Choose the idiom that best fits into the given sentence:

The meeting was boring that it was like

1. watching paint dry

2. crying for the moon

3. gaining ground

4. going to dogs

Correct Answer :-

« watching paint dry

17) Choose the correct opposite meaning of the highlighted word in the given sentence:
He was given an award for his benevolent act of saving a child from harm.
1. charitable

2. sympathetic

3. philanthropic

4. ungenerous

Correct Answer :-

+ ungenerous

18) Choose the correct word for the given sentence:
we’ll be there by dinner time.

1. Hoping

2. Hopely



3. Hopefully
4. Hope

Correct Answer :-

« Hopefully

19) Choose the appropriate determiners for the given sentence:

In my family, my Dad has the money in the bank and I have the ; though my
brother has __ than my Dad.

1. most, least, less

2. most, less, lesser
3. much, more, lesser
4. the, less, least

Correct Answer :-

« most, least, less

20) Choose the appropriate determiners for the given sentence:

people came to attend the election rally at __ election ground.
1. Much, the
2. Any, the
3. Many, the

4. Many, a

Correct Answer :-

« Many, the

21) Choose the correct form of verb for the given sentence:
Many tourists around the cafe just famous movie stars.
1. run ... catch glimpses

2. hang ... to see



3.sit ... glance
4. lie ... watch

Correct Answer :-

« hang ... to see

22) Choose the correct form of tense to complete the sentence:

By this time tomorrow, 1 to Canada.
1. will flew

2. will fly

3. will be flying

4, flew

Correct Answer :-

« will be flying

23) Choose the correct form of modal auxiliary verb for the given sentence:

When I feel I have done no wrong, I rather die than beg for his forgiveness.
1. must

2. should

3. could

4. would

Correct Answer :-

« would

24) Choose the correct form of modal auxiliary verb for the given sentence:

You worry about money; I will lend you some when required.
1. might have

2. might be



3. need not

4, needs not

Correct Answer :-

« need not

25) Choose the suffix that best fits in the given sentence:

Real___is not often shown in movies.
1. -ity

2. -ness

3. -istic

4. -ly

Correct Answer :-

26) Choose the correct form of phrasal verb for the given sentence:

The whole city to welcome Vishwanathan Anand.
1. turned out

2. went out

3. stepped in

4, fell out

Correct Answer :-

. turned out

27) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit's face worth looking at.

Which device is the passage talking about?



1. Tablet
2. Laptop
3. Personal Computer

4. Mobile

Correct Answer :-

» Personal Computer

28) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit's face worth looking at.

Give the opposite word of Sluggish.
1. Hot

2. Slow

3. Fast

4. Sharp

Correct Answer :-

o Fast

29) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit’s face worth looking at.

What was Amit drinking in the morning?
1. Coffee

2. Water



3. Lime Soda

4, Coke

Correct Answer :-

« Coffee

30) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit’s face worth looking at.

What is meant by “the machine got the better of him"?
1. It scolded him.

2. It defeated him.

3. It thrashed him.

4. It insulted him.

Correct Answer :-

« |t defeated him.



